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addazy

1 e 2w A arefisie # At g g ¢
(A) 4.TH.T,
(B) ST9TH
(C) &9
(D)

3. 33‘73@ Tel &1 9 2
(A) 600 gm
(B) 800 gm

(C) 900 gm
(D) 700 gm a d d

4. Toog ol Hl. g FE 2
(A) Tftaed gard
(B) 7 Fif¥raR1ai =i 8214
(C) T wftg=or s)eTd
(D) Sframy % figers wrer

- jﬁ'm'ﬂ“aﬁﬂmﬂm@a
g7

(A) TTH
(B) Sefiry
(C) foe
(D) Feare

Y Y, -

3. The Weight of mer's Javesn is
Ay 800gm
(B) 800gm "
(C) 00gm
(D). 700¢m

4. The mainfuncind® 8C s
(A) Transpor SBs=ns=s
(B) Renmdeadaﬁ
(C) Incmﬂﬂf
(D) Fighta®™
5;#03220
5. Dr.B.C oy o
with
(A Hoc*‘f'/
(B) gadmi®”

e
(D) Footb?
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10.

V14 ey i 0y

(B) %ew i
(C) %) yygy 5
(D) v 4

‘mai_éq & fafia fon o o
(A) 'ad gry

(B) v ®pta gy - a

(C) wgfe sier gmn
(D) BTS2 g1y

‘gt e foom e 2
(A) &4 5

(B) T % Fraret v 4

(C) A& H
DRCEEX R L

(A) Wl &

o™
Hniech of e ’Uffm‘rr, LuprzrS s ?
U P (o rstser rrert o spons
(A) Yash B 4143 Aarard
(B) Adun Awara 1~
(C) Laxman Award

(D) Khel Ratna Award

7. The Scapuia bone is situated "
(A) Leg
(B) Hip
(C) Upper
(D) Arm

8. mwswepwwaswmﬂﬂw

arvard
mas Cureton T

(C) Lucien Brouha
(D) Sergent

8. ‘Gastrocnemius’ muscle is situated at
(A) Shoulder

(B) Lower leg

(C) Chest (__—
(D) Upper back

10. The final event in Decathlm'iaw
(A) Javelin throw
(B) 1500 meter race L-—-—-—
(c) 110 meter hurdleg
(D) 800 meter race 1
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1. ﬁﬁﬁf@aqaaﬁq_mw o
1 W9 & 7
(A)W
(B)'Srqm-xﬁxﬁa
(C) =iz
(D) S=ifeandi=x

12. N s # o e
(A) FwivH

(B) TTITETH
(C) wrsuifayan
(D) ==

mmmﬂwmﬁ“‘
F FEd 8

(A) TSRV Ty
(B) FUferT Fraga

(C) fraw Frgam

(D) fewif~rias g

3R svoqre feufy o 2

(A) B T@1

(B) 25 1€ T@1 W

(C) T3fFm gahet W

(D) T @1 T
TG-10/B
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irumery
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12.

(A) Inflation

(8) H}’pertrophy v
(C) Hypoxia

(D) End()mOrphy

13. The ability to. adjust the movement

effectwely on the basus of changing
d d ation is called

(A) Adaptatlon ability /"
(B) Coupling ability
(C) Rhythm ability
(D) Differentiation ability

troke
conduct of a penalty s
Du:';i;: the umpire takes position
in

over

(A) Centre line \/

ing circle

14,
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i’ ; o B o is cal
A En y "# en 16 whichof the following 15 ciau 7
T upower House" of muscle

(A) urez
(A) pitochondria

(C) v (8) Cytopiasm
(D) ﬁ ‘ (©) protoplasm
preron (D) Nucleus

16, frg
ﬁam’m‘*‘mm“fa&g‘nm’ 5. Which of the following is called

Feamy 1 puilding block’ of fife ?
(A) e (A) Genes
(B) %= (B) Cell
(C) woh 7 (C) Muscle fiberr”
(D) Fredrai (D) Chromosomes
17. foaf 33 % o ERm R IEFA 17. Which is the formula to calcula®®
fe3 2 wrcgen 8 7 ___stagger distance of a lane ?

A win=17 230%®

B RER |

(A) win=1)—.10x= |
(B) win-1)-.10x2r —

(B) w(in—1)=.10x2x
(C) win'=1)~.10 a d d) =110
(D) winy=.10 / | )Eutd N 1

 zmE9E (AAHPE
18 ( RD) 71 f5=m whiam | 18. AAHPERD youths fitness test is for

q:r# # fern ;a measuring
((a )) mamm %1 &5a (A) General motor ability -
< wﬁ'%;ﬂ (B) Motor fitness

(C) Motor educabili
, ity
(D) 377 = (D) All of the above

19. ﬂw%rlhaﬁﬁa*mﬁ:ﬂwaga
| | 19.  Which of the following bi muscle
TR ? to the :one ? g
(A) T FTER (A) Muscle fiber
(B) 7 (B) Nerve
zg) Lot (C) Tendon L~
) e (D) Filament
7
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g ., 2. Y & ljz";q,-. 2. Calnurs

gy ot
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4 3 D a d " B I

i (D) 1

21 ‘GmFT FEAFEEAR
(A) Za@ 28 (379)
(B) Za= 244 (dfEen)
(C) =tz (3%9)
(D) #fiamza (#fE=)
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(A) aTeReaTel |
(B) fre 4

(C) T H
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23,3000 M. Wi sy a0 vl o
Il g @ 7 SR [T
(A) 747
(B) 1447
(C) 2847
(D) 1047

24, ‘win’ feva @
(A) WA
(B) Bueh o
(C) Breft &
(D) Eivgt &

25, A F-u1 Gt 1 ferar
ELA SO
(A) sfewm =1 faar
(B) farstan =1 fergr=
(C) 7 9 < I g
(D) fafireean %1 fagr

26. vz ‘wgsem | fRed et @ 7
(A) arfey aeft
(B) #=7 gt
(C) ferarermn aeft
(D) IF # & FI3 T

07, ‘ziforem srafy’ F AR

- :
r lf’;’i-’"J
T & -
g 0 e AT

24, How many hurdies 2 '
e r
in 4000 m, sleeple cnase 1= £

(A) 747
(B) 1447
(C) 2847
(D) 10+ 7

24. The Sternum is located In
(A) Foot
(B) Palm
(C) Chest
(D) Skull

th

25 Whichone isnottheprinciple o7 s0o™
training ?
(A) Principle of overioad

Principle of indiyiduality
Principle of stop and go —

(D) Principle of specificity

26. The term “Fusiform™ is related to
(A) Skeletal muscle
(B) Heart muscle
(C) Smooth muscle -~
(D) None of the above

7. ‘Transition period’ aims at
(A) gtabilization of performance

(B) Super compensation
(C) Recreation
(D) Recovery

TG-10/B



28, fraferfaa A @ \-w Bafim W w5

qad TR | @ 7
(A) el

(B) ¥«

(C) 3IWET

(D) THTX

29. 3F=ure witvemor fafty’ for 3 g et

S o ?

(A) T, Dverer
(B) . 1. wwn
(C) 3. 3. AH
(D) 1. €. venuq

30. ‘Ufew w1ty fom 2 2
(A) @t d
(B) fre i zd o
(C) 9T &
(D) &9 |

31. ufirard @il w1 seyl a @
(A) TSft & 3
(B) s
(C) &wawy 3m
(D) 3T 3R 3

G CARGE R AR L M E T RC R
grafaa @ 7

(A) e

(B) sm&esiial

(C) wieh

(D) Asfireq

G-10/B

32,

add

10

28, Which of the
SOurce of Vit
(A) Banana
(B) Apple
(C) Guava /
(D) Tomato

following is the
amin ‘'C' 7

29. ‘Interva Training Methog’ was
developeq by

(A) W. Gerschier

(B) E. V. Aaken

(C) R. E. Morgan \i{'F
(D) G. D. Admason

30. ‘Parietal bone' js Situated in
(Rr$kul >

(B) Vertebral Column

) Foot

'@ Hand

31. The ‘motto’ of Asian Games Is
(A) Fast forward
(B) Ever onward
(C) Ever forward
(D) Forward and forward

32, ‘Lady Ratan TataTrophy'is associatel
with the game of

(A) Football

(B) Basketball

(C) Hockey

(D) Badminton A
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33. RS- & wyy 3y
8 aror Y sy @ -
(A) TH

(B) 31T

(C) wim
(D) S5

Ml ,n_i' ¥

%. Ss fvm  ww  gend 7

36. Ay de LR
(A) 43.195 famd}.
(B) 42.195 faf},
(C) 41.185 famdt,
(D) 40,165 1%

87. WRA I WA WK R G 7 g 1§

S i 7
(A) 1951

(B) 2010 \
(C) 1984

(D) 1982

n

33

34,

35.

36.

37.

r (\\‘-’e' -
a the ‘take “
Who supervises the 12

I £ y 7
during relay race

(A) Referee

(B) Umpire
(C) Line men L~
(D) Judge

Longest muscle in humar
(A) Biceps

(B) Sartorius —

(C) Triceps

(D) Rectus femoris

‘Dead ball' is associated with
(A) Seitbal

(B) Basketball
MC) Hockey
N(@"Cricket 1=

Distance of Marathon race s
(A) 43.195 Km

(B) 42.195 Km'—

(C) 41.185 Km

(D) 40.165 Km

In which year did Ing;
) dig or ;
\E

Asian Games in Sec%
img 3

(A) 1951
(B) 2010
(C) 1984

(D) 19&2
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38. frmfefias LEY & -} Q’-Is"la?l‘ﬁ g Which one is not a Endocrine 'J“:r,H
TR

(A) Pituitary
(A) Trged o
ipheral —
(B) T (B) Periphe
(C) = (C) Adrenal
>
(O) Sfsrars (D) Pancreas

39. Mental age of an individual is

30. forelt sufe ot st sirg wra: @S
detected by

T::m’ i qa fii 21 (A) Year, month and days "
(B) TR T (B) Through X-ray
(C) it 1 &HaT G (C) Functional efficiency of organ
(D) TSI TEv g (D) Psychological tests
’ 40. afz di@n S ST 791 S, TEd Hd If the new skill to be learned is
gﬂmﬁﬁﬁﬁi, a}@n@;mg‘ad erent than th.e alre-ady learnt ski
e sfer of Ieammg ww:ll be
(A) GATcHF (A) Positive | ~
() (B) Absolute
(C) FHvIcHh (C) Negative
(D) A (D) Zero
1. ﬁ:ﬂ #l tﬁsﬁ 54, A qefi 41. In flexion of elbow' biceps muscle
Fefl 2 acts as
(A) =t #5 (A) Antagonist \/
(B) e %1 (B) Agonist
(C) Rfaemssr #1 (C) Stabilizer
(D) zﬁm EQ (D) Neutralizer )
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44

45.

46.

D

Ty ANt . \
R N Qo

1 2
Ta 8 '

g = ai R
A) R ARy
(B) dyen Al
C) wFem Ry
(D) Q‘R 8 E Y
*%2 mﬁfﬂ W e aiv okl &
(A) Ferrm ok wreeh

(B) Wrfram aiv ¥fivran

(C) SR 3R Wwm

(D) SRS 3k e

vl e ¢ & ster A st oW
e

(A) watesye A
(8) ¥z
(C) W @

(D) g H

‘el & STeaTA H) FEd
(A) nfa fasm

(B) fa fagm

(C) wraE e

(0) wifeu fawm

mamwm““““"‘
e a8 7

(A) 790

(B) 871

(C) 67

(D) 431

AL S | T

19

J "
Which ONe s not 4 mathod of |||.|W“ l
h\‘llln y

(A) Cyelie method
() Tabulas method \
(L) Clroula mathodl

(D) Stair case method

‘l.‘ \Nhﬂ.‘“ l“ “\0 'U"“w““i ’””“i“ll“ i"”

usetul for bones and teeth 7
(A) Calclum and phosphorus
(B) Potassium and calclum
(C) Sulphur and iron

(D) Phosphorus and iron

44, Pre-competition meal should be

high in
(A) Cadatipdiaia b

) Fat
adda:
'

45. Study of ‘joints’ is called
(A) Kinesiology
(B) Biology
(€ Anthropology
(D) Arthrology &

46, Howmany times has India won Hockey

Gold Medal in Olympics ?

TG-19/8



47.

fe o & @ -an abyen a9 @) e

T i

(A) &adi

(B) H#

(C) Hihte
(D) 3Areifya,

48. I@m‘m%ﬁ’%ﬂ@a@
7

weaf R |
(A) Fh

(B) Featw
(C) TEFarer
(D) Fag

49, T %z # wArE gt = oy w0 A
} i Il%llédmﬁmﬁw

1. a1 a1 gfoe
2. 2% HE 97
3. 3F HE Sard
4. 2% HG FHop
C T4
(A) 4, 1,
(B) 4, 2,
€) 2 1.3
(D) 2, 4, 3

2,
3,

- DN oW

50. & HEA F) Wearfea # F v gad

PEICIRiCas

(A) weia fafy
(B) =TT fafy
(C) sFaetier fafy
(D) =+ fafy

TG-10/B
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48,

(A) Swimmin
(B) Footba

(C) Taekwongq |

frange the f:ollowing factors |
determine flight distance in
jump in descending order :
1. Air resistanoe

2. Take-off velogity |

3. Take-off height 3

Codes :

(A) 4, 1, 2, 3
(B) 4, 2, 3, 1
€)2.1 34
(D) 2, 4, 3, 1

50. What is the most eﬂec_tiveqmemd
. encouraging self leaming -

(A) Demonstration method
(B) Lecture method
(C) Observation method
(D) Task method

vV

the |



AL
51. uyafram -
FR? by A et o) vy
(A) 58,
(B) 5.1 9,
(C) 5.2 8,
(D) 5.3 @

54. Frefafiaa # & f ‘wpa o’ F2a 8 7
(A) dgu of
(B) H9=ra% Ut
(C) et
(D) F747a wfl

55. mameR ‘va.sm.dl = At
(A) TEA T3 TR AAE
(B) TF TS HHTH! ATaH
(C) TFA FF A AT
(D) T TN ATH

51.

52.

15

e
. .~ athl@
What is the width of lines IN a

track events 7
(A) 5cm

(B) 5.1 cm
(C) 62cm
(D) 5.3cm

4 1.gd to
Which of the following is not reld

field Hockey ?

(A) Bully

(B) Off-side "—
(C) Free hit

(D) Penalty corner

53. Dynamic strength is also called

A) Isometric strength
a g; tonic strength |
okinetic strength

(D) Absolute strength

54.  Which of the following is called the
“Master Gland" ?
(A) Pituitary gland | .
(B) Hypothalamus glang
(C) Thyroid gland
(D) All of the above

What does the abhrg .
stands for ? v"“ﬁn ) H|vu

(A) Human Immung [y,
(8) Human "“munoq."

uman Immy
- SIrua L no"‘“‘mll

(D) Human |m"ﬂun° Vlru.

55.



y

1.

56.

57.

58.

59.

Rrferfiaa i & Fy-a1 11 AT &1 ¥
e

(A) Sg3feTH

(B) I

(C) foram

(D) Tt

R arareen | sxfireram fy e 1 61
e I Fd B

(A) Traaem dren
(B) HIH= Ay
(C) UHHIeRYA Ty
(D) TR e

Iv TR qi¥neor g ¥ &
&9 T ST 377 2 Ragld
(A) gt

(B) § Feq=irer

(C) v

(0) 3 & & #ré e

16

5‘) Whi(;h one ie

5;‘ The ability to achieve maximyp,

from Stationary Position is cajlg
(A) Reaction ability

(B) Movement ability
(C) Acceleration ability
(D) Locomotor ability -

98. Adaptation to training load at
altitudes is known as

(A) Thermoregulation
(B) Super compensation
(C) Acclimatization '
(D) None of the above

59. Who was the promoter c;f “Surpiu!
Energy Theory" of play

(A) Carl Groos
(B) G. Stanley Hall

r
(D) V. Shiller and H- 5F I



(A) dTehd
(B) wfa
(C) Tifd
(D) =9eidn

63. 110 ¥ex &ran g # aren i S
Bt B
(A) 1.07 Hi.
(B) 0.914 1.
(C) 0.840 H.
(D) 1.00 H.

17

60. Individual differences are due 10

(A) Environmental impact
(B) Heredity impact

(C) Heredity and Environmental
impact

(D) None of the above

61. ‘Trial and Error Theory' was
proposed by

(A) Newton
(B) Paviov
(C) Thorndike | —
(D) Homer

62. The ability of a muscle to contract

forcefully in a quickest possible time
is called

(A) Strength

63. Height of hurdles in 110 m. Hurdle
race is

(A) 1.07m,
(B) 0914m. L—
(C) 0.840 m.

(D) 1.00m.

Who was the First Principal o v, (o A
College of Physical Education, 2

(C) B.P. Coubertain
(D) C.A John

TG-10/m



67. izt sttar 2

o8, feewa ol # AF 1 HW g ®
(A) 40°
(B) 45°
(C) 34.92°
(D) 35.50°

69. Fr=faftas d 4 #H-81 3R (AAHPER)
g e F e TR 7

(A) F&i-379

(B) -3y

(C) = B

(D) 7 f¥w
TG-10/B

!'II65, Which of the followind i8 NOt Mgy ;-f’
correctly 7
/@) Bekham _ Footba
(B) Serena Wwilliams - Tennis
(C) Dipeeka gandhu — Badming,
_ Tennis

(D) Sania Mirza

The P.1.B. (Plastic |ndicator B"""'-’:

related to

(A) Shooting
(B) Shot-put
(G)yLong jump
(D) Basketball

66.

67. Goniometer measures
(A) Strength
(B)._Endurance
(C) Power
(D) Flexibility

88. The angle of sector for Discus throw:
(A) 40°
(B) 45°
(C) 34.92°
(D) 35.50°

69.) Which of the following is not a
" component of AAHPER youth fitns
test ?
(A) Pull-ups

(B) Sit-ups
(C) Standing Broad imnp -

(D) German Dnll

18
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74. m et 3 U greftater i & e 74.) How many offit "'{I"[I’:::I'F ir(-i--;.b '
feer ot (sfrerdl) o amarwaaran & 7 a volleyball match
aames
. (JA) 4
(B) 3 (B) 3 /
(C) 8 (C) 8
(D) 10 (D) 10
75. W% ‘quyyr’ fahad wrafia 7 25 The word “Percussion” I8 aSS0ciy
with
(A) N ' (p:) Wrestling
(B) ! (B) Judo
(©) e v (C) Swimming '
(D) mrfers (D) Massage\
76. FA-H AT, Gepfira el § 7 76. Which disease is transmitted from
. F et 2 ? A infected mammals to man ?
(B) Hefean (B) Malaria
(OREEREIES! (C) ' Chiekenpox
(D) ugH _ qu:m) ADS ~
77. m—ng@m%ﬁ#nﬁmﬁﬁﬁqﬁfa dﬁ;ﬁ@wpmer’s coach should
8 & o7 veqHl W em Ffmd -/ concentrate on three aspects of the
=1fey : | following :
1. 3=2dY &0 1. Optimum acceleration
2. Y nfa 2. Greater speed
3. wfesn 1 wyqrar W 3. Parallelogram of vectors
4. Al T=ag o 4. More optimum angle
5. % 1 s1firs $mé 5. A greater height of release
L T4 Codes :
(A) (2), (4), (5) (A) (2), (4), (5)
(B) (1), (3), (4) (B) (1), (3), (4)
(©) (1), (3), (5) ~ (©) (1), (3), (5)
(D
) @), ), (4 (D) (2), (3), (4)
G-10/8




h (D) 3% WTES
A

81. Frfofed § & #-w1 peaia & waf g

78, ﬁWﬁF{’ﬂﬁﬂﬂﬂﬂﬂ 1 yrag ¢
A wfayg § 7

(A) e
(B) Tef

(C) werdare
(D) Ufém e

@mmmﬁﬁmﬁmiﬂﬂ@m

a1 7
(A) s
(8) wrsfier
(C)

w6’ ¥ e

Mg, L8

I
And’

80. M(mma:mmm
mﬁmmﬁwmmm

(A) SIT9TH
(B) ¥

(C) Favg »
(D) FifEr

2800 -]

TR
(A) ¥t Ui
(B) s

(C) gfem

21

/8. Which of the following word I

79.

81.

associated with the game of
Hockey 7

(A) Bully

(B) Gully

(C) Fly ball
(D) Rolling baj

In which country the first football
World Cup wasg played ?
(A) America
(B) Brazil
(C) China

—
Chive

S

ion of OWplcﬂGames due
na (Covid-19) 7

(A) Japan
(B) China
(C) England
(D) Korea

Which of the following is not relateq to
football ?

(A) Penalty area

(B) UmpireLX\/ ;



82.

83.

6. T S i, fore 318 dH

wT S @ 2, fras =% @t S 7
(A) 28
(B) 21
(C) 14
(D) 7 -

85. AU sTerfrya wfufa 1 qeaTe
FE feyq 8 7
(A) sfifm
(B) &g
(C) feesiete
(D) sy

il

|

82.] Who Sald ‘Sound mined
Body' 7 "nd in a g
(A) Descartee

(B) Roussea,

(C) Aristotle

(D) Plato

83. 'Release ang reverse’ technios
related to
(A) Swimming

(B) Shot-put

(C) Baseball

(D) Javelin

rounds will be played ?
(A} 28 ;

(B) 21 |

(C) 14

Oy 7"

85. Where is the Headquarter of
International Olympic Commitis
located ?

(A) Beijing

(B) London

(C) Switzerland v~
(D) Germany

¢ ‘Long Jump’ velocity of wing

e asured for the duration of

me
(A) 10 s
(B) 5 secC.

(C) 15 secC.
(D) 20%8¢

When eight teams are particicats
a round-robin tournament, how o

1




2

i ! iy =T Sy W) o
4 il gt 81 i

A
" Mdﬂ(‘\l‘ﬂ"': M1y

87,

88.

%

Which Asana from the following 18

performed in sitting position 7
(A) Chakrasana

(B) Ardha-Matsyendrasana
(C) Mayurasana

(D) Trikonasana

The energy value of food is measured

in the Unit of

(A) Gram

(B) Wat

(C) Calories
() Ampere

f the following is not a cognitive
?

i

(A) Dyslexia

(B) Hyperactivity
(C) Memory disorder
(D) Sensory impaiment

Who suggested the body PSS =

TG-10/B




(D) o9 =2

94. HIAMEIF F-81 HANYH FEOA 741 91
(A) Tozad 7 (1920)
(B) afefa & (1916)
(C) fm | (1924)
(D) &= & (1908)

91.

92.

Which of the following is nota sy E
of proteins ?

(A) Egg
(B) Meat
(C) Edible oil
(D) Milk

‘Radha Mohan Cup' is assoc'atw
with 1I

(A) Football |
(B) Horse Race l\
(C) Polo .
(D) Weightlifting i

93 Which of the following is not the |

d

agory of ‘Croutch Start’ 7 '
(B) Medium stan

3 p—

(D) Bunch start

% mouyrnpicﬁagmﬁm"‘”’"‘}

(A) Antwerp (1920) [

(B) Berlin (1916)
(©) paris (1924)




95. 'Sergent Jump’ Meagy,
a5 ﬁ"
(A) Explosive leg Strengt
J Strength
(B) Agility
(C) Explosive gy, strength

(D) Flexibility

96. / ‘Finish grip’ s related to
(A) Golf stick
(B) Cricket bat
(C) Hockey
(D) Javelinx”

97. Which one of the following is not a
component of health related physical
(A) "Strength
(B) Flexibility
(C) Speed
(D) Endurance

@ How many Byes will be given for seven
teams playing on single knock out basis

competition ?
(A) TwOI/
@) One‘/

(C) Threé

(D) No bye will be givgn

TG-10/B
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98, ﬁi’ﬁlta;gﬁmm%

99. Explosive strength is associated wiy
A
(A) e % b m (A) Resistance with speed
(B) gﬁﬂu % ﬁ.ﬁ!ﬁ (B) Spead aga"‘]sl [hﬂ resistance
©) mgﬁﬁﬂ (C) Maximum resistance
(D) e @ (D) Speed play
100. &l T F stwaird ) S 2 100. The height of the blackboard of Hocke,
oal is
(A) 123 i %\
(A) 12 Inches'
(B) 10%= (B) 10 Inches
(C) 1834 ) (C) 18 Inches
- A
(D) 2434 () 24 Thchas N

101. nfd’ F1EFa e a dfd " is indlqatocl in
(A) fareiniiet /aee ﬁj

ometer/second

(B) @eifizy /w2 (B) Centimeter/hour
(C) =geA (C) Newton
(D) feetifter /w2 (D) Kilometer/hour

102. e 3 @ F-of gt de &) aur éoz) Which one is not a technique of finish
F 7 R 7 |

" the race ?

(A) T Y (A) Run through
(B) &=t (B) Lung

(C) witeet oy () Shoulder shrug
(D) Zr fefa (D) Torso finish

— 2



5 ; l 103. 'Sit and Reach Test’ measures
W % bl | (A) Abdominal strength
(B) q;ﬂ ‘Wﬁiﬁmqa (B) Shoulder flexibility
(C) &q@'l aﬂ'{ fia 1 ereftenma (C) Hamstring and back flexibility
(D) Wz w1 wrguRdyr (D) Hyperextension of the back
104. ‘“wde ufee’ wafaa 2 104. ‘Round Robin’ belongs to
(A) AT 31132 ufenfian (A) Knock out Tournament
(B) @ael Ale sr3e wfeenfian (B) Double Knock out Tournament
(C) V&t yfernfien (C) Ladder Tournament
(D) et wfeEnfia (D) League Tournament _—
105, ‘@’ ae ufsn 2, f5ra & wzema 105. Learning is a process of changing
G R (A) Knowiedige
(A) I 1 : .
] , (B), Attitude
(B) Grem & @l — |
(C) STaEL A a a"i"“f‘/
(D) | 1 | (D) Character
P i fraf smamd 106. How many hurdles are required to be
106. 400%. A e d - crossed by an Athlete in 400 m. Hurdle
qR A gt & 7 Race ?
(A) 8 w8 L
(B) 10 BT 1
(C) 12 (C) 12
(D) 20 (D) 20
107, 3 5 1 w fra ga AR f 107. Devis Cup s related to which game ?
(A) FefirA (A) Badm'"“’{jq,
® T o oot
(C) Baskﬂtball
k (C) SR = (D) Tennis [_SA*S
(D) T

h 27 TG-10/B
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108, Wmﬁan
e B
(A) W& it =) mferfaren 1
(B) wa i wapfyy a1
(C) AW vtk 7 g 1
(D) "7 357t 1 e =1

109. SffReterish = ayeas 2
(A) uigysf
(B) wfey
(C) Sir3
(D) dfaeht

110. ﬁmﬁﬁaﬁq-ﬁﬁwﬁ%ﬁﬁ%ﬁf
ATl 7

(A) T
(B) fede=ea
(C) fersi=zg
(D) ferpe=g

111, ﬁwf%—rﬁqaﬁﬁﬁmwﬁ%&m
F1 1 A SR 7w TE T
ST ¢

(A) 3TEgIEIf% AW
(B) smAie: =™
(C) sTEimTgATe A
(D) Ferefye =ma™

G-10/B

% el ayead Al

28

N

108. Anatomy deals with the study of

(A) Functions of human body

(B) Human natyre

(C) Structure of human body

_AD) Functions of human body Parts

109, Osteology is the study of
(A) Muscles
(B) Bones \.—
(C) Joints
(D) Nerves

- A

110. /Which one is not the category of

g
a agNamotics

(B) Dependents "
(C) Depressants "
(D) Stimulants v

111, In which of the following exercise

wa_:;rk done is not considered as work
scientifically ?

(A) Isotonic exercises
(B) Isometric exercises
(C) Isokinetic exercises

(D) Calesthenic exercises

i



thi

112, “OeAmt 99’ fe dy ,
(A) 7]
(B) %21
(C) F7

(D) @1

4 'qu'g;g ?

ferara STl

77 929
' ;
(C)

(D) aamaﬁau’rirﬁﬂmg

115. i 2020 3 e S F faw
(A) TR FEW

o |
1 £

-~
™D

113.

115.

116.

(C) Cryotherapy
(D) Spinotherapy

psychology i taught o 1€ studer* ™
P ysical 24239 pecause

(A) It ennances W

( is related 10 behaviou’
a ( ain leaming

(D) It motivates athletes

The winner of 2020 French open

(A) Roger Federer
(B) Rafael Nadall—"
(C) Novak Djokovik
(D) Nadal Michal

Which one i not a part of brain ?

(A) Android
(B) Cerebellum
(C) Thalamus

(D) Cerebrum
TG-10/B



[(¥a
17, FEfaRen ¥ & 9 - shitfv =
YR e R 7
(A) 3fafisem
(B) U3z Ofim
(C) whfiteh
(D) FeaTgee

118. "Rie Uavm’ firifig fir st 2
(A) &fsm gy
(B) W3S i g
(C) &fraem g
(D) #gen 3=z

119. FH-H1 Yty Fefirzq 1 fava faa=
SftaA FTen geen faare ar 7
(A) T qEET
(B) &. gidt
(C) arurf die
(D) 9. Mfra=

120. ﬁn%ﬁaaﬁﬂm-mm%add

&4 1] s 2 7
(A) &
(B) Aufew

C) F2
(D) fasgiFg

121, foefre wfoaifiar fe o & forw gt
Tt # 7

(A) TTH-3THE

(B) &

(C) Ffiym

(D) W=

TG-10/B

/i W 2

118)]

119,

=13

Wi eh one of the follo WInNg 1s nNo
of !()urnnmr,m ?

(A) Elimmntlnn n

(B) Roungd Robin

(C) Anlu:ipalory =4

(D) Bagnall-wij

Reflex action’ I8 controlled by
(A) Cerebrum

(B) Spinal corg
(C) Cerebellum

2og

(D) Medulla oblongata

Which Indian was the first to win
World title in Badminton ?

(A) Prakash Padukon
(B) Syed Modi

(C) Aparna Popat

(D) P. Gopichand

ah of the following is a disease
caused by virus ?

(A) Cholera

(B) Tuberculosis
(C) Leprosy v’
(D) Chickenpox

Pyramid tournament falls in the
category of

(A) Knock-out

(B) League

(C) Combinatn

(D) Challenge



‘n‘,pl n I|"‘|"| '“J-' rﬂt" a

(A g

()

(©) M

() yenfih B 4l

rafer’ W1 e aft e e B
(A) el A

(B) T3 A

(C) dere 4

(D) & @

105, e fara % feru, aferaret SRIA
Iy fope sren @ 7

(A) et

(B) =l

() forepres nfd
(D) wewfa

|I A i [
TR
(A} Vit A
() Vit B
l)

{t) Jitprin

(1) It |

1000 f ’ll"'l“/ floon nol o P L

(A) Intartility
(1) Cancer
(C) Dinbetos

(12) lschaemic hoart disoase

124, JKyphosis' s also called

: I.I{(g;zlaumk
(1) Ao back

(C) Latoral back
(D) Back curve

125, Forwhat dovelopment is interval
training used 7

(A) Floxibility

(B) Agllity

(C) Explosive strongth

(D) Endurance

—

n

TG-10/8



